
��������

��������	�
���
�����	�
���    ���������

1. AB  ���	
��
�������������  BA 1. A(B ± C) = AB ± AC

2. 2.A(BC) = (AB)C = ABC (B ± C)A = BA ± CA

3. AI = A = IA

4. AA−1 = I = A−1A

�������������	�
���    �
������������������	�
���

1. = A 1. = A(At)t (A−1)−1

2. = 2. =(A ± B)t At ± Bt (AB)−1 B−1A−1

3. = 3. =(AB)t Bt ⋅ At (kA)−1 1

k
A−1; k ≠ 0

4. = 4. =(kA)t kAt (An)−1 (A−1)n

5. =(An)t (At)n

   ����� det

������� !��"  	#�"�   1 × 1 A = [a] det A = a

$%&!'(��$�)*��+��,���!���

������� !��"  	#�"�   2 × 2 A =





a b

c d




 det A =






a b

c d




 = ad − bc

$%&-��$�)*��+��,�+�)���"��

$%&!'(��$�)*��+��,���!���

������� !��"   	#�"�   3 × 3 A =







a b c

d e f

g h i








det A =
a b c

d e f

g h i

a b

d e

g h

$%&-��$�)*��+��,�+�)���"��
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1. det (AB) = det A ⋅ det B

2. det (A−1) = 1
det A

; det A ≠ 0

3. det (At) = det A

4.   $)� ����!���������  Adet (kA) = kn det A ; n

5. det (An) = (det A)n

6. 4�� A = B 5-�6 det  A = det B    ∗∗∗∗∗ 
7. 4�� det A = det B 5-�6 ���	
��
���8* A = B  ∗∗∗∗∗ 
8. 4��:��;��!��������� �8*�
�+�"<+��8546<"546+�'*� +�)�+-��<"+-��+�'*��
�� 0 ��(�+�" 

����"�����86�� det !��������� ��(�������� 0 

�;��
2 3 4
0 0 0
1 2 6

= 0 ,
1 0 4
2 0 5
3 0 6

= 0

9. 4��:��;��!��������� �8*�
�+�"<+�<�:��546<" +�)�:��+-��<"�����������"�����86��
det !��������� ��(�������� 0

�;��  ,  
1 2 3
4 5 6
1 2 3

= 0
1 1 4
2 2 8
3 3 5

= 0

10. 4��������� <"�8*�
�+�"<+��
��������� :���+-8*,���+�)�:���+-8*,�-���+�)��������  
�@8,�����"�����86�� det !��������� ��(� ������� A-$%&!��:��;��<��:���#5,��B�+-�� 

�;��
1 −2 5
0 4 1
0 0 3

= 12 ,
2 0 0
1 4 0
5 2 −3

= − 24 ,
−2 0 0
0 3 0
0 0 5

= − 30
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11. 4��:��;��<�:��546<" +�)�:��+-��<"�
�� c ����!�����5-#���5-�6	#�"� det = 0 

�;��
1 2 3
5 10 15
4 1 7

= 0

12. 4���������  B ���"	�����:-��546$%�<"$%�+�'*� +�)�+-��$%�<"$%�+�'*�!���������  A 	#�"�6��
det B = - det A

�;��   5-#  	#�"�  det B = - det AA =







1 2 3
4 5 6
7 8 9








B =







2 1 3

5 4 6

8 7 9








   -������ (Minor) �3+ ���4��	��� (Cofactor)

Minor :  $)�  "8���� ��5��� !��������� �8*�"�	�������"546�8*  i  5-#+-���8*  jMij (A)

!���������   A  ���
Cofactor :     $)�  Cij (A) (−1)i + j Mij (A)

   ������
������������������	�
���

������
������������������	�
���
������� !��"   	#�"�            	#�"�   1 × 1 A = [a] A−1 = 

1
a



������� !��"   	#�"�   	#�"�    2 × 2 A =





a b

c d




 A−1 = 1

det A






d −b

−c a




 , det A ≠ 0

������� !��"   !'(��
+�   	��3 × 3 A−1

 G",   A−1 = 1

det A
(adjA) adjA = [Cij (A)]t

   �
����"#��"#���%,�
������������������	�
���

1.  ��8,�   6��������� A%�H��!�� AA−1 = 1

detA
⋅ (adjA) adjA

2. 4��  A  +�   ����"���8,�  A  6��  Singular Matrix  +�)�  ������� ���R�� A−1 (detA = 0)

3. 4��  A  +�   �"�  ��8,�  A  6��  Non-Singular Mastrix  +�)�  ������� ��<;����R��A−1

 (detA ≠ 0)
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���:*�  Cofactor  :������  det  �����	�
������
  n ×××× n

�%;�	�������  det
1. �-)��546+�)�+-����  1  546  +�)�  1  +-��
2. +�  Cofactor  !��:��;��5��-#��6<�546+�)�+-���8*�-)����
3. ���:��;��<��
�5+�����(�  $%&���  Cofactor  !��:��;��<��
�5+�����(�5-�6

�
����6����A-�8*�"�$)�$��!��  det

�+,,������*
�����

�
�+�":�����;���:�� n :���� n ��65
�  "���8(
       .......................... (1)a11x1 + a12x2 + a13x3 + ... + a1nxn = b1

    .......................... (2)a21x1 + a22x2 + a23x3 + ... + a2nxn = b2

   .......................... (3)a31x1 + a32x2 + a33x3 + ... + a3nxn = b3

      ... .
..

.

..
.
..

.

..

   .......................... (n)an1x1 + an2x2 + an3x3 + ... + annxn = bn

���:����4�!8,�:���� n :���� n ��65
�<+��,%�<��%
������� �"�"���8(

                

















a11 a12 a13 ... a1n
a21 a22 a23 ... a2n
a31 a32 a33 ... a3n.

..
.
..

.

..
.
..

.

..

an1 an2 an3 ... ann

































x1
x2
x3.
..

xn















 =

















b1
b2
b3.
..

bn

















A ⋅ X = B

  4��    �#��:�����;���:���8$
����  1  ;B"detA ≠ 0

4��    $
����!���#��:����<+�H�	��&�"���8(detA = 0

  4��$
�����,%�<��%
    �#��:�����8$
���������,������4�6�0

0

4��$
�����,%�<��%
    G",    �#��:��������8$
����k

0
k ≠ 0

��8,�  �������   A  6��������� :��
�#:��X�Y
                        X   6��������� ��65
�   
                        B    6��������� $��$��8*
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���
<���
����	���=� (Row Operation)
$)����"
���������,���<"�,���+�'*�����
�8(

1. :-���8*�#+6���546�8*  i  ���  546�8*  j  ��)*�  �!8,�5��"�6,  i ≠ j Rij

2. $%&546�8*  i  "�6,	
��6�	���  c G",  �!8,�5��"�6,  c ≠ 0 cRi

3. 5���8*546�8*  i  "�6,A-�6�!��546�8*  i  ���  c  ����!��546�8*  j  
G",�8*  �!8,�5��"�6,  c ≠ 0 Ri + cRj

�������+,,������*
������
��
&"��������  (Gaussian elemination)
�%;�	�� 1. �
��#��:������:�����
��������� 5�������

[A B] =













a11 a12 .... a1n b1

a21 a22 .... a2n b2
.
..

.

..
.
..

.

..

an1 an2 .... ann bn













2. <+��
�  "�6,  Row Operation  	��
�<+�  A  �
��������� ���-��_& [A B]

	%���G�����
<���
����	���=�
	%���G�� +��,4'�  �
�546�8*  1  $%&  2  5-�6�6��!��<�546�8*  2R2 + 2R1

     







2 1 −2 8

−4 −3 6 − 22

0 3 8 − 38








R2+2R1







2 1 −2 8

(−4) + 2(2) (−3) + 2(1) (6) + 2(−2) (−22) + 2(8)
0 3 8 − 38








     







2 1 −2 8

0 −1 2 −6

0 3 8 − 38








	%���G�� +��,4'�  :-��546�8*  1  ���546�8*  2  +��,4'��
�  $%&:��;���B� R12 ,
1

14
R3

1

14

��6<�546�8*  3







0 −1 2 8

2 1 1 6

0 0 14 − 28








R12,
1
14

R3







2 1 1 6

0 −1 2 8

0 0 1 − 2







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�	
��
�
���������

�<���
����*
�����  �
����$��$���$&��`�:�� �8*�
���
�#,B�� <;�<����XB���	  �'*��
��
�$�)*���)�!��ab�,���+��  :
�+���
�#��������":��<	<�5��!��A-
�#G,;� ����c ����"�5��
5�����, 6��4B"��, �6-�, :4���8* 5-#���H,�������c �8*�8�,%�	
���"<+����"A-
�#G,;� ����8*:B"

�������������<���
����*
�����  :����45,��
��:�6�c �"�"���8(
1. 	%��J��"#	%
�
�:�  (Decision Variable)  +��,4'�  �#"��+�)�	
��6���	��������c �8*

<;��
������-)��!��
gh+��8*	#��":��<	  �;��  
����&6��4B"���8*	#
i���!��:%�G�����, 
����&
:��$���8*	#A-�� j-j

2. 4L���*%��JM�����  (Objective Function)  $)�  :�������$&��`�:�� �8*<;�5:"�$6��
:��H��X �#+6�����65
�����c 5-#A-�����":��<	 �'*�:�6�<+h�	#�,%�<��%
!������B�, �
���,
�#,#�6-� j-j

G",��*6�
�
i�+��,!�����XB���	 �m$)� ����-)����65
��8*�
�<+�$��ng�� ;���
i�+��,"8�8*:B"
�-��6$)�

1. �
i�+��,:%�:B" (Maximize)  �;�� �
���:%�:B"
2. �
i�+��,�
*�:B" (Minimize)  �;��  ����B��
*�:B"

3. ����<��%
��O�����<���
	G��P (Constraint or Restriction)  ��65
��8*��":��<		#�
��
�����":��<	q�,<��!��	
���"+�)�!���
�+�"����c �'*����	#�,%�<��%
!���:���� �;�� <+� x
5������B����A-��:��$��;��"�8* 1, y 5������B�<����A-��:��$��;��"�8* 2  G",����B�<�
���A-��:��$����(�:�������������6��-#  1000  ���  	#�����!8,�!�"	
���"�"�$)�   x + y ≤ 1000

������JLQ���<���
����*
�����
<���&8�8*
gh+��8�H8,�  2  ��65
�  6�X8����8*���,5-#<;��"�"8 $)�6�X8���n (Graphical

Method) G",�8!�(����"���8(
1. �
�!���%-�8*�8�,%����
�+�"ng�� ;���
i�+��,5-#!��	
���"����c
2. �
�!��	
���"����c ���!8,����n
3. +�H)(��8*�8*�
���
�"�  (Feasible Area) !��
gh+�  �'*�+��,4'�H)(��8*��6��8*5:"�"�6,

���n!��!��	
���"����c
4. <;�6�X8����":�� �H)*�+�$���@-,�8*"8�8*:B" G",6�X8�8*H8*:�� 
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��������

���������ก	
��
����    ������������������
�P = 2x + 5y

 2x + y ≤ 16

    2x + 3y ≤ 24

  x ≤ 0

        0 ≤ y ≤ 6

�������

�
��
�	������  ���   ���  (0, 6)(0, 0), (8, 0), (6, 4), (3, 6)

��	
� P = 2x + 5y

(0, 0) ��� P =   0
(8, 0) ��� P = 16
(6, 4) ��� P = 32
(3, 6) ��� P = 36
(0, 6) ��� P = 30
∴ ����,��
����  P  ���  36

��������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������

y

x
(0,0)

(0,6)

(8,0)

(6,4)

(3,6)

2x + y = 16
y = 6�ก���ก 2x + y = 16

2x + 3y = 24�ก���ก

2x + y < 16 2x + 3y < 24
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���ก��

1. ก3�������     ���  A =





(tan 30 )x −1
(cot 60 )x 2




 det(A) = 9

���4   ���  ���56ก78�����������9�
�A−1

1. 2. 3. 4.





2

9
−1
3

1

9

1

3











2

9

1

3

−1
9

1

3











1

3
−1
3

1

9

2

9











2

9

1

9

−1
3

1

3






2. ก3����  ���9:����56ก78  C  �����������9�
�A =




1 2

1 −4



,B =





2 1

1 3






7<��	3����  (A + B) ⋅C = I

1. 2. 3. 4.1

9





1 3

2 −3



 −1

9





1 3

2 −3



 1

9





1 −3

−2 −3



 −1

9





3 3

2 −1





8
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3. =��  A  ���  B  �9:����56ก787<��   ���   ���42A − B =




3 4

3 6




 A + 2B =






−1 2

4 −2





 ������56ก78�����������9�
�(AB)−1

1. 2. 3. 4.





−1
4

0

1 −1











−1 0

1 −1
4










1

1

4

0 −1










1 −1
0 −1

4






4. ก3�������  A  �9:����56ก78	
��
�6�6   ���    =�� I  �9:����56ก78��ก��กAB82 × 2 det(A) = 4

���   �9:����56ก78��กC��  ���4   �	��ก�D���������9�
�A − 3I det(A + 3I)

1. 0 2. 6 3. 13 4. 26
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5. ก3�������56ก78  A  ���  B  ����
�

 G��	
�  x  �9:��3��4��56�A =




x2 −2 2

2 2 x




 B =






−2 −4x
2 0






=��    ���4  ���56ก78  C  �����������9�
�	
�	3����������   det(2A) = −76 det(BC)

��,������H�4�  (−100,−50)

1. 2. 3. 4.C =




1 −1
1 2




 C =






−1 2

1 1




 C =





2 1

−1 4




 C =





2 1

3 −1





6. ก3�������    G��	
�  a  �9:��3���D�����ก�5  A =







a a 0

a −1 0

0 −1 2








x2 + x + 1 = 0

�������   �
����	��ก�D�����det(2A2AtA−1)

1. 2 2. 8 3. 32 4. 72
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7. ก3�������  A  ���  B  �9:����56ก78�6�6   ���  I  �9:����56ก78��ก��กAB8�6�6    3 × 3 3 × 3

G��	
�    ���   �����   �
����	����AB = A + B det(A − I) = 8 det(I − Bt)

1. 2. 3. 4.−1
4

−1
8

1

4

1

8

8. =��    ���4  A =




3 2

2 2




 det(4(A−1)) + det(4(A−1)2) + det(4(A−1)3) + ..... + det(4(A−1)6)

�
����	���5
1. 8.25 2. 15.75 3. 24.25 4. 30.75
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9. ก3�������  A, B, C  �9:����56ก78���
5��   ���  3 × 3 detC = −2, det(BC−1 ⋅ B) = −4

 G��    ����   �
����	����det(AC−1 + I) = 2 detB > 0 det 2(AB +CB)

1. 2. 3. 4.32 2 −32 2 64 2 −64 2

10. =��    ���4   �	��ก�D���������9�
�A =





−1 1

3 −1



 det 

−2A3At(A +At)


1. 768 2. 3. 384 4.−768 −384
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11. ก3�������  A, B, C, I  �9:����56ก78�6�6   G��	
�  I  �9:����56ก78��ก��กAB8  ���=��2 × 2

 ���   ���4   �
����	��det(−A3) = det(2 2 I), det(C−1) = 4 ABtC =





−6 1

4 −2



 det(B)

ก�D���������9�
�
1. 2. 3. 4.det(4I) det(16I) det(A3) det(C3)

12. ���  A, B  ���  C  �9:����56ก78����    =��    ���  3 × 3 detA = 9 AtB − 2AtCt = −3A−1

���4   �	��ก�D���������9�
�det(2C − Bt)

1. 2. 3. 1 4.−1
3

−1 1

3
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13. =��  x, y, z  ��������ก�D5�DD�����ก�5
=x + 2y − 2z −2

=   52x + y + 2z

=   3x − 3y − 2z

���4�
�	�58�6����8   �
����	����
2 1 −3

−2 2 −2
x + 2y 2x + y x − 3y

14. ���   ���4������  A =







1 2 1

1 1 2

2 1 1








M32 + 

M11(A)−2M12(A)
C11(A) +2C12(A)



C23(A)

�
����	����
1. 2 2. 3 3. 4 4. 5
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15. ก3�������   G��	
�  x  ���  y  �9:��3��4��56�A =







1 2 −1
2 x 2

2 1 y








=��   ���   ���4   �
����	��ก�D�����C11(A) = 13 C21(A) = 9 detA

1. 2. 3. 30 4. 33−33 −30

16. ก3�������     �����  a  �9:��3��4��56�D4กA =







a a − 2 −1
−1 a 1

1 −1 a








=��   ���4  ����������  M11(A) = 5 C32(2At)

1. 2 2. 4 3. 8 4. 16

15

à¾×èÍÍ¹Ò¤µªÒµÔ  à¾×èÍâÍ¡ÒÊ·Ø¡¤¹ 
���
�� �����  ก��	������� (����
�)
�
��
���ก���� � ��
! ��
�



17. ���  A  �9:����56ก78�6�6  3 × 3

=��   ���  M13(A) = −1 3

1 2
, M21(A) = −1 1

2 4
M32(A) = 2 1

−1 0

���4   �
����	����detA

1. 15 2. 30 3. 45 4. 60

18. ก3�������   ���  A =







x + 2 x x + 1
0 x x + 1

x + 1 −1 x








B =




x x + 1
2x 3






=��  x  �9:��3��4��56�	
�	3����   ���4   ������56ก78�����������9�
�det(A) = 0 adjB

1. 2. 3. 4.



3 −2

−2 1










3 0

2 −1









3 −3

−4 2










3 1

4 −2





16

à¾×èÍÍ¹Ò¤µªÒµÔ  à¾×èÍâÍ¡ÒÊ·Ø¡¤¹ 
���
�� �����  ก��	������� (����
�)
�
��
���ก���� � ��
! ��
�



19. ���  A, B  �9:����56ก78���
5���6�6   ���  I  �9:����56ก78��ก��กAB8�6�6   3 × 3 3 × 3

=��    ���   ���4  ���56ก78K,กL����� B  �	��ก�D���������9�
�AB = BA = I A =







1 1 −1
2 1 3

1 0 1








1. 2. 3. 4.1

3
A −3A 1

3
At −3At

20. ก3����  A, B  ���  C  �9:����56ก78�6�6  3 × 3,B = At −A−1, det(adjA) = 9

   =��    ������   ����	����3(C − B) = adjA detA > 0 detC

1. 2. 3 3. 9 4. 271

3
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21. ก3�������   ���  A =







1 3 2

0 0 −1
2 0 1








X =







a

b

c








=��   ���4   �
����	��ก�D�	����A2(adj(A))2X =







−36
54

0








a + b + c

1. 2. 2 3. 4.−1
2

−3 −1
3

22. ก3�������   ����  A =







1 2 3

−2 −3 2

1 2 1








det(2adj(adjA))

1. 32 2. 64 3. 128 4. 256
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23. ก3�������    ���H6ก���=4	
�  2  ������ก	
�  3  ���  AT =







−2 2 3

1 −1 0

0 1 4








A−1

�	��ก�D�����
1. 2. 3. 4. 2−2

3
−2 2

3

24. ก3�������   ���4   �5�ก�D�����B =







3 −2 4

2 1 3

1 3 −2








B−1

1. 2. 3. 4.













11

27

−8
27

10

27
−5
27

11

27

−7
27

−7
27

10

27

1

27

























−5
27

11

27

−7
27

11

27

−8
27

10

27
−7
27

10

27

1

27

























−5
27

11

27

−7
27

−7
27

10

27

1

27
11

27

−8
27

10

27

























11

27

−8
27

10

27
−7
27

10

27

1

27
−5
27

11

27

−7
27












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25. ���  x, y, z  �9:��3���D���5�DD��ก�5�H6�����
= 2a11x + a12y + a13z

= 1a21x + a22y + a23z

= 0a31x + a32y + a33z

=��  









a11 a12 a13
a21 a22 a23
a31 a32 a33

1 0 0

0 1 0

0 0 1








∼







1 0 0

0 1 0

0 0 1

1 −1 1

0 −2 1

2 3 0








���4  ������   �	��ก�D�	����x + y + z

1. 2 2. 4 3. 6 4. 10
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ก�����ก��	���	���

26. =��   �����  x, y  �9:��9�����������  P = 5x + 4y x + 2y ≤ 40, 3x + 2y ≤ 60, x ≥ 0

���   ���4����,��
����  P  �	��ก�D���������9�
�y ≥ 0

1. 90 2. 100 3. 110 4. 115
�������

27. =��  C  �9:�956��B	
��
����<��ก�D��������4�95  x  ���  y  ��4��4�����L��M8  C = 3x + 5y

�����  x, y  �9:��9�����������    ���   ���4����3���
�3x + 4y ≥ 5, x + 3y ≥ 3, x ≥ 0 y ≥ 0

���  C  ������������������  �
����	��ก�D���������9�
�
1. 2. 3. 4.21

5

29

5

25

4

27

4

�������

y

x

40

40

30

30

20

20

10

10

y

x

2

2 3

1

1

21

à¾×èÍÍ¹Ò¤µªÒµÔ  à¾×èÍâÍ¡ÒÊ·Ø¡¤¹ 
���
�� �����  ก��	������� (����
�)
�
��
���ก���� � ��
! ��
�



28. ก3������ก�5�
�95����8   ������ก�5����3�ก�����P = 7x + 5y

  2x + y ≥ 40

2x + 3y ≤ 60

    0 ≤ x ≤ 24

     y ≥ 0

=�� (a, b)  �9:��
��
�	
������ก���ก�5����3�ก��  ���������  P  ����	
��
����4   a + b

�	��ก�D���������9�
�
1. 20 2. 24 3. 25 4. 28

29. ก3������ก�5�
�95����8   G��	
�  z = ax + by a > 0, b > 0

����
���ก�5����3�ก�����  x − 2y ≤ 0, x + y ≥ 3, 2x + y ≥ 4, x ≥ 0, y ≥ 0

�����   ����������5�   �
�4��H���	��ก�D  z = 0 ax + by = 0 −3
2

=��  z  �
�������	
��
�	
��
�   ���4  ������   �	��ก�D���������9�
�(x0, y0) x0 − y0

1. 2. 3. 1 4. 3−4 −1

30. ��ก�5�
�95����8���  C = 3x + 2y + 4z

�������  C  �3���
������
����3�ก����� x + 5y + 2z ≥ 7

3x + y − 2z ≥ 2

x + 2z = 2

x ≥ 0

y ≥ 0
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